2N
X ZH -
L= B

el

2 AFAl & Dt
Hal2EAleE =8 (dadI ) (222 /A=
a3 &=

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A A D 50,763,526 145,941,482 295,177,956
J| 35,222,750
< 15,540,776
el 2EAd 28 (dad) ) (2L 22/H=) 50,727,416 145,900,910 295,173,494
J| 35,222,750
< 15,504,666
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J| 35,222,750
< 15,475,666
ADEANOE FIE HE(=31) 30,004,416 41,699,250 A 11,694,834
J| 22,590,250
< 7,414,166
401 AIEHI L 2 CHYI 30,004,416 41,699,250 A 11,694,834
J| 22,590,250
< 7,414,166
01 A& HI 28,896, 156 41,489,250 A 12,593,094
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O Z AR I 19,000
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< 2,025,000
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J| 6,074,000
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O S At eltl 400,000
03 A& 2 THHI 50,000 65,966 A 15,966
O S AL THHI 50,000
OLOIAGEII ZII& A4 (=21) 8,745,000 32,126,000 A 23,381,000
J| 6,558,500
< 2,186,500
401 Al HIZ 2 048I 8,745,000 32,126,000 A 23,381,000
J| 6,558,500
< 2,186,500
01 A& HI 8,369,000 30,590,000 A22,221,000
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